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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
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a)  Define long run and short run of production.
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b)  State the condition of profit maximization for

a firm.
OB FII e A faFces =S 2
c) What is the condition for stable market

equilibrium?
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d) What is demand function?
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Mention any two features of an indifference

curve.
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Define own price elasticity of demand.
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Draw the total and average fixed cost curve in

short run.
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Mention any two reasons of change in supply

of a goods in the market.
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Draw an indifference curve when two goods are

perfect substitutes to each other.
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Define a firm.
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What is marginal cost?
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State two purposes of studying Economics.
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What is marginal rate of technical substitution
between two factors of production?
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Draw how the budget line will change if price

of any one goods rises or falls.
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What is Veblen effect?
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2.  Answer any four questions: 5%x4=20
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How market demand curve can be achieved from
individual demand curves?—explain with
diagram.
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Define an isoquant. Diagrammatically derive the

slope of an isoquant. 2+3=5
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Explain diagrammatically the shape of AVC and
AFC in short run.
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3. Answer any two questions:

Which three stages of returns to a factor is

preferred by a firm in the short run and why?
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What is return to scale of production? Explain
with example why return to scale may increase.
243=5
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10x2=20
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What is an indifference curve? Explain the
assumptions of indifference curve theory. State
the conditions of consumer's equilibrium

according to this theory. 2+6+2=10
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Prove that own price elasticity of demand is
different at different points on a straight line
demand curve. Mention any four factors which

determine elasticity of demand. 5+5=10
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Explain diagrammatically why short run average

cost curve has 'U' shape. 10
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What is minimum cost combination of two
factors in production? With help of isoquant and
isocost curve show how a firm reaches to such
combination. 3+7=10
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